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(a) al3a (i) W+IV 

(3)  Vkq (ii) m 
(Tfi) 3ifm (iii) 37ry 

(a * (iv) w **: 
( J r ) ( V )  ( S ) ( 3 )  

(1) (ii) (iv) (iii) (i) 
(2) (iii) (ii) (i) (iv) 
(3) (ii) (iii) (iv) (i) 
(4) (iv) (ii) (iii) (i) 

=ti=SIl /SPACE FOR ROUGH WORK 



15. $ W t ! ? T $ F 4 l W i W e f f ? C % I ~ .  F Q W 7 T @ F i K b ?  

(a) TikmFd 6) * m+I 
p W H  (i) V;3rm WA 

(7Fi) = 4 4 m  (iii) m d d  
(3) T4bIm (iv) d? 
m*: 

( a ) ( a )  ( 5 ) ( 3 )  
(1) (ii) (i) (iii) (iv) 
(2) (iii) (i) (iv) (ii) 
(3) (iv) (ii) (i) (iii) 
(4) (iv) ( i )  (i) (ii) 

d jrmr /SPACE FOR ROUGH WORK 
P.T.O. 



17. dT*FWl. 

(a) * (i) $1 
( 1  - (ii) mala? 
(a) - (iii) * 
(3) 3wma (iv) w 
**: 

(JT)( i iT)  ( 5 ) ( 3 )  

(1) (iv) (iii) (i) (ii) 
(2) (i) (ii) (iii) (iv) 
(3) (iii) (i) (ii) (iv) 
(4) (ii) (iii) (iv) (i) 

ZiFZ4l /SPACE FOR ROUGH WORK 

- . -.- am----- 



24. w*?%fi? 
(1) TfJmd @ (2) -m (3) - (4) - @ 

25. ~ ~ ~ $ 7 W I $ T i l ?  

(1) - (2) - (3) * (4) Tfq 

/SPACE FOR ROUGH WORK 
P.T.O. 



26. Idenhfy the correct sentence : 

(a) By the time we arrived at the station, the train had left. 

@) Since he has completed his job, he left early. 
Answer options : 
(1) MY (a) ('4 MY @) (3) Both (4) Neither 

27. Idenhfy the alternative in which the words are spelt correctly ? 
(1) dominent, difference, discipline, entrance 
(2) dominant, difference, discipline, enwance 
(3) dominant, difference, descipline, entrence 
(4) dominant, differance decipline, entrence 

- - 

28. Choose the word closest in meaning to the word printed in CAPITALS in the following 
sentence : 
He received the bad news with surprising EQUANIMKY. 
(1) Soundness of mind (2) Plainness of mind 
(3) Calmness of mind (4) Disturbance of mind 

29. Choose the correct option to fill in the blanks in the following sentence : 
We got up dawn and had breakfast eight O'clock. 
(1)  On,at (2) At, on (3) At, at (4) On, on 

30. Find out the incorrect sentence : 

(a) She dresses herself like her mother did. 

@) She dresses herself as her mother did. 

(c) Wait while 1 come. 
(d) Wait until I come. 
Answer options : 
(1) Both @) and (d) (2) Both (a) and (c) 
(3) MY (a) (4) MY ( 4  

31. Which of the following sentences is grammatically correct ? 

(1) I asked him where does he work ? 

(2) He has amved here, isn't it ? 
(3) He died from cholera. 

(4) I'm a teacher, aren't I ? 
- 

32. Perhaps we Mahabaleshwar next month. 
Choose the correct verb form, from the given options : 
(1) visit (2) will visit (3) visited (4) not visit 
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33. Choose the incorrect sentences : 
(a) If I have time, I shall visit the exhibition. 
@) If there was rush of orders, we have to work overtime. 
(c) We could have started dinner if  only John has been there. 
Answer options : 
(1) (a) and @) only (2) @) and (c) only 
(3) (a) and (c) only (4) (a), @) and (c) 

34. Which of the following sentences are correct ? 
(a) His hairs have turned grey. 
@) The wages of sin is death. 
(c) I have many works to do. 
(d) I told the porter to carry my Iuggages. 
Answer options : 
(1) BJth (a) and @) (2) MY (4 
(3) MY @) (4) Both (4 and (4 

35. There is some water in the glass. 

Select the correct question to get the underlined answer : 
(a) How much water is there in the glass ? 
@) How many water is there in the glass 7 
(c) What much is there in the glass ? 
Answer options : 
(1) only (a) and @) (2) only (a) and (c) 
(3) only (a) (4) only (4 

36. Choose the words with the same pronunciation : 
(a) Sight @) Cite (c) Site 
Answer options : 
(1) (a) and @) only (2) @) and (4 only 
(3) (a) and (4 only (4) (41 @) and (4 

37. You have taken /many troubles / for / No error. - 
('3 (Q) (R) (5) 

Spot the error in above sentence. 
If there is no error say No error. 
(1) MY 0') (2) MY (Q) (3) MY (R) (4) No error - (S) 

38. Idenbfy the correct sentence/s in passive voice. 
(a) Accidents are caused by carelessness. 
@) Our clothes were not spoilt. 
(c) I want coffee to have. 
Answer options : 
(1) MY (a) and (4 (2) MY @) and (4 
(3) MY (4 (4) MY (a) and @) 

W4Tf7& W /SPACE FOR ROUGH WORK 
P.T.O. 



39. Choose the correct sentences : 

(a) Whom is that letter from ? 

@) Who did you give it to ? 

(c) It all depends on whom you ask. 
Answer options : 

(1) (a) and @) only (2) (a) and (c) only 
(3) @) and ( 4  only (4) (a), @) and (c) 

40. Which of the following sentence/sentences are correct ? 
(a) Both the brothers live together. (b) He often goes to the cinema. 
(c) I am in hurry. (d) What nuisance. 
Answer options : 
(1) Both (a) and (b) (2) only (4 
(3) Both (a) and (d) (4) None of these 

41. Identify the incorrect sentence : 

(a) Kindness is a good virtue. 
@) The men fear death. 
(c) Copper is very useful. 
Answer options : 

(1 )  only (a) and (b) (2) Only (b) and (c) 
(3) Only @) (4) MY (4 

42. He has a passion for indigenous goods. 

Select the alternative which is closest to the opposite in meaning of the underlined word. 
(1) Native (2) Foreign (3) Cheap (4) Simple 

43. What does the underlined modal auxiliary suggest ? 

The game yiJ be over within a short time. 

(1) general truth (2) willingness (3) insistence (4) prediction 

44. Which of the following sentences are incorrect ? 

(a) Gold is a precious metal. 

(b) The gold mined here is of poor quality. 

(c) The breakfast is at eight O'clock. 
Answer options : 

(1) (b) only (2) (4 only 
(3) (a) and (b) only (4) (a), @) and (4 

XWlU& 3lT /SPACE FOR ROUGH WORK 



45. Choose the correct sentences : 

(a) I wonder why he isn't here. 

@) The inspector asked us why hadn't we a ticket. 

(c) I don't know why they can't get here earlier. 
Answer options : 
(1) (a) and @) only (2) (a) and (4 only 
(3) @) and (c) only (4) (a), @) and (c) 

Read the following passage carefully and answer Question Numbers 46 to 50 based on it. 
Wallace Stevens (1879-1955), a great modem American poet, was a man who worked in 

the law department of an insurance company all his life. Setting aside the socic-political and 
commercial problems of the world around him, he wrote what could be called 'pure' poetry 
because he was a poet, philosopher and aesthete of a high order. Today, he is considered one of 
the greatest modernist poets of the twentieth century. In a way he could be called a poet's poet 
because, for him, art and aesthetics provided a substitute for religious faith in a world without 
belief. The subject of Stevens' poetry is poetry itself : its nature and function, the role of the poet, 
the creative mind and the power of imagination to define reality. According to him, a poet's 
imagination works upon objective reality to create poetry that offers a modified reality in the 
form of 'supreme fiction'. The artist's imagination is the centre of meaning. It is 'the necessary 
angel'. Exceptionally original, Stevens' poetry is complex, syntactically radical, symbolic, 
colourful, full of lavish imagery, rich in sensuous metaphors, rhetorical and always linguistically 
experimental. An alert and careful reader can discern the influence on his poetry of philosophers 
like Plato, Aristotle, Henri Bergson, George Santyayana, Poets like Coleridge, Yeats, Eliot, Pound 
and the French symbolists, and painters like Cezanne, Manet and Picasso. To understand 
Stevens is to suspend one's rational faculties and to lose oneself imaginatively in his rich artistic 
imagery and evocative symbolism. 

'The Emperor of Ice-Cream' is a favourite poem of Stevens' because, as he said, it 'wears a 
deliberately commonplace costume and yet seems to me to contain something of the essential 
gaudiness of poetry'. When somebody asked him about the strange title, he replied that he used 
it because his daughter liked ice-aeam very much. More seriously, one may view ice-cream as 
a kind of universally accepted fact of life, to which even death must yield. In fact, life is 
ice-cream, so also is death. The poem defies aU attempts to reduce it to rational meaning. 
Stevens himself opposed such attempts because a poem has its origin in the imagination. In this 
sense, this poem is a good example of the dictum, 'a poem should not mean, but be'. Being and 
seeming, present life's basic contrast, which Stevens' poetry has been trying to express. 

46. Which is not hue of Wallace Stevens according to the passage ? 

(a) He worked in an insurance company. 

@) Poetry itself is the subject of his poems. 
(c) He wrote symbolic poetry. 
Anawer options : 

(1) (a) and @) only (2) @) and (c) only 
(3) (a), @) and (4  (4) None of the above 

5=W aTl'RW8 ';rmr /SPACE FOR ROUGH WORK 
P.T.O. 



47. What according to the passage is the centre of meaning in a poem ? 

(a) Commercial problems 

@) Socio-political problems 

(c) Artist's imagination 

Answer options : 

(1) (a) m d  @) only (2) @) and ( 4  only 

(3) (c) only (4) (4,  @) and ( 4  

48. Why is 'The Emperor of Ice-cream' a favourite poem of Stevens ? 

(a) Because he liked ice-cream. 

@) Because his daughter liked ice-cream. 

(c) Because ice-cream represents a universally accepted fact of life. 

Answer options : 

(1) (a) and @) only (2) @) only 

(3) @) and (c) only (4) (a), @) and ( 4  

49. What does art provide according to the passage ? 

(a) A substitute for religious faith. 

@) A momentary relief from tensions. 

(c) Self-knowledge 

Answer options : 

(1) (a) and @) only (2) (a) only 

(3) (c) only (4) (a), @) and (c) 

50. Who of the following did not influence Stevens according to the passage ? 

(a) Coleridge (b) Shakespeare (c) Henri Bergson 

Answer options : 

(1) (a) and @) only (2) (a) and (4 only 

(3) @) only (4) (a), @) and (c) 

3EE4T XTT /SPACE FOR ROUGH WORK 



57. k ?lWi (Atal Mission For Rajuvenation and Urban Transformation) 
7ml?ih~mm--4nm&? 
(1) 43 (2) 47 (3) 51 (4) 59 
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62. ~ ~ $ P T W T ~ ~ ~ ~ S ~ ~ ~ ~ ~ ~ F ~ ~ T ~ ~ K  

(State Disaster Response Fund) %C q TF9 T f F d  3l@l f$riit FlTWl SklTi & ? 
(1) 50 : 50 (2) 60 : 40 (3) 70 : 30 (4) 75 : 25 
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73. 3~m.31~9.a. (IIT) 3.3.3. (JEE) STlfirl $@VW 38k@WE, 8. Fd'FR7 'T?lW%l '@FP%&V 

~ l o * * ~ ~ m ~ ~ ~ ~ ~ a m s r t r M ~  
h *? 
(1) f 5,000 (2) f 7,500 (3) f 8,000 (4) T 4,500 

74. = 4 m ~ ~ ~ m * m ~ ~ ~ ~ ~  
1 6 6 ~ ~ ~ ~ 7 h T 3 ? 5 ~ & ?  

(1) Ti.fbmm3memq~dm 
(2) -*-- 
(3) d+l lm=f~*~7hT 

(4) mmTIdm 

a W T d  Zl lT /SPACE FOR ROUGH WORK 
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81. ~ a ; r m ~ m + w h ~ q w ~ ~ ~ m a ~ a s n % ~ - ~ %  
 em^^: *- 7Fm v 
( 3 )  RP-RI=I (1) m, *, m, (I) $RXI ~ ~ 3 ,  m M, +mm 

m, m wfR4 
0 )  twl7 (ii) * (2) m, *, w ~ d  
( )  * (3 ama, (3) w**, ?fF-l, -q 

m*,- m 
( 5 )  737 (iv) q. (4) ~ ~ m ' l , ~ ~ ~ d  
(3 * (9 -*>-* (5) * , m T p w h I q d h l  
**: 

(1) (3)-(iii)-(2) (q)-(v)-(5) (F)-(11)-(3) (x)-(i)-(4) (F)-(iv)-(1) 

(2) (3)-(5)-(5) (q)-(v)-(4) (TI-(iv)-(3) (X)-(C)-(2) (3)-(i)-(1) 

(3) (a)-(i)-(2) (q)-(iv)-(4) (F)-(C)-(3) (X)-(GI-(5) ($)-(v)-(1) 

(4) ( 3)-(i)-(5) (3)-(G)-(2) (F)-("1-(3) (3)-(iv)-(1) (9-(4-(4)  

3iE5T S P l T d  3 T V  /SPACE FOR ROUGH WORK 

--.. 



(3) ~ ~ - 9 T f $ i f m ; l  (i) matmqm 
(a) m-=ih (ii) i?msf%rm 
a o m a - m  ('4 w 
( 3 )  vJZl - m (iv) 

(8) 9 r r m - m  (v) & m, ma 
WM*: 

(a ) (q)  ( 3 ) ( 3 )  ( T )  
(1) (iv) (4 .(El (4 (1) 

(2) (v) (ii) (iv) (i) (iii) 
(3) (v) (iv) (i) (ii) (iii) 
(4) (ii) (iv) (i) (v) (iii) 

84. (Silty soil) 4?JTl%l &. 
(1) 0.02 it 0.12 *.rit. (2) 0.002 it 0.02 *.*. 
(3) 0.002 it 0.22 *.*. (4) 0.02 it 2.00 rit.*. 

m e  /SPACE FOR ROUGH WORK 
P.T.O. 
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(5) m* (iii) 5 ~ 6  

(3) (iv) m e  
&*: 

( 3 ) ( T )  (75) (3)  

(1) (iv) (iii) (ii) (i) 

(2) ( i )  (ii) (iv) (i) 

(3) (ii) (i) (iv) (iii) 

(4) (i) (iv) (ii) (iii) 

TFll /SPACE FOR ROUGH WORK 
P.T.O. 



98. 7 W ~ ~ ~ r n 7 W ~ ~ ~ , ~ ~ ~ ~ ~  
~ ~ * :  

(3) m 
(T) Evm&i'mmq it& 

( 1  f ~ s l ~ ~ ~ w * ~  

(3) =dy%W 

m*: 
(1) (3), (9) wRJ7 (5) (2) (W, ( W  Wh (3) 

(3) * d (4) (a), (T) rn (W) 
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